PARABOLIC
Sl Part No Description Qty/ veh
1 | 03AX056C09 | Leaf Spring Pack 2
2 | 40CX080C09 | Leaf1 2
3 | 40CX081C09 | Leaf2 2
4 | 40CX082C09 | Leaf3 2
5 | 40CX083C09 | Leaf 4 with Clips 2
6 | 86CX062C09 | Bar Pin Bush 2
7 86CX067C09 | Shackle Bush (for M24 bolt) 4
ULTIMAAX
si Part No Description egl’
1 24AX029C09 Assy Walking Beam 1350mm (with bushes) 2
2 11AX049C09 Assy. Frame Hanger (with Shear Springs, 2
Prog Spring & Saddle)
3 24CX043C09 Cross Tube 1
4 90CX126C09 M20x1.5x185 Grd 10.9 Flange HD Bolt (for 8
Saddle Cap)
5 31CX204C09 Saddle cap 4
6 93CX031C09 M20x1.5 Flange Nut 8
7a | 90CX084C09 M20x1.5x75 gr 10.9 Flange Bolt 8
7b | 93CX031C09 M20x1.5 Flange Nut 8
8 95CX249C09 Saddle 4
9 43CX022C09 Progressive Spring 90mm 4
10 | 93CX030C01 M10x1.5 Flange Lock Nut* 8
11 | 99CX027C09 Spacer 3mm (for Prog Rate Spring) 8
12 | 90CX083CO01 M10x1.5x35 Round Head Square Neck Bolt* 8
13 | 43CX020C09 Shear Spring 8
14 | 32CX045C09 Confinement Washer 8
15 | 86CX045C09 End Bush 4
16 | 86CX046C09 Centre Bush 2
17 | 03AX010C09 Kit — Cross Tube & End Plug 1
18 | 03AX003C09 Kit Progressive Spring (Prog Spring-2; M10 1
Bolt-4; M10 Nut-4)
19 | 03AX004C09 Kit - Saddle Cap Fasteners (M20 Bolt, Nut, 1
Washer 4 each)
ULTIMAAX 20 | aaaxaoscos | - Shear & Progressie Load Sprng (Prog |
21 |oomonscos | K1 S Song e Sy 30K |
T For More Details Visit
«/» TATA BHENDRICKSON E3EE PART LIST FOR ULTIMAAX & PARABOLIC
TATA AUTOCOMP HENDRICKSON SUSPENSIONS PVTLTD | | SUSPENSION FITTED ON TATA MOTORS
©Talika Khed. Puno - 410501, Tel 91 - 2135 670600, 670605 =]
Email : sales@técohendrickson.;:om | service@tacohend’rickson.com www.tacohendrickson.com L P K2 52 3 l L P K2 5 1 8
List of Distributors : PARTAP SINGH & SONS Agra : 8439967451, Gandidham : 9825867883, Aurangabad : 9850170010, Jalandhar : 9417532320, Kanpur : 9594911896, Rajkot : 9825713642,
Pune : 9822535262, Bhiwandi : 9867535418, Jaipur : 9079182427, Ahmedabad : 9879012360, Varanasi : 7208470345, Nagpur : 9372430213, Narayan Motors Mumbai : 9869243561,
Deccan Vehicles Pvt Itd, Indore : 9300326796, Auto Care, Indore : 87704 00973, AAV Auto, Pune : 82378 42662, Rajyalaxmi Vijayawada : 7337091118, 9841654782

SRU3050002 11-19.



	Page 10

